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QUESTION 1

An administrator is tasked to reduce the company\\'s datacenter power utilization. Currently there are 500 physical
servers in the datacenter and 600 virtual servers with five additional available host servers. Which of the following
should the administrator perform?

A. Migrate servers using V2V technology

B. Perform an offline migration of virtual servers

C. Migrate servers using V2P technology

D. Migrate servers using P2V technology

Correct Answer: D

QUESTION 2

Which of the following would be the FIRST thing to do after determining an upgrade is required for a production
application server?

A. Perform the upgrade

B. Notify the application users of the upgrade
C. Submit a change request

D. Schedule a maintenance window

Correct Answer: C

QUESTION 3

Which of the following is an example of vertical scaling?

A. Adding memory to a host

B. Adding CPU to a VM guest

C. Adding memory to the VM guest

D. Migrating all VM guests from one host to another in a cluster

Correct Answer: A

QUESTION 4

Which of the following types of storage technologies uses fiber channel protocols?
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A. SAN

B. DAS
C.iscsl
D. NAS

Correct Answer: A

QUESTION 5
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A company wants to build a cloud environment where individual departments can host applications and data on shared
resources, but users cannot access data that is outside of their department without specific permissions. To deploy an
architecture that meets this requirement, the network administrator will need to employ which of the following

configurations on the switches?
A. Port security

B. Packet shaping

C. Routing tables

D. VLANs

Correct Answer: D
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